Name:       
What is the difference between Fission and Fusion Nuclear Reactions?

Nuclear Fission:  the process of splitting nucleus into two smaller nuclei
 
By throwing a neutron at Uranium-235, you get -  Nuclear Bomb! OR Nuclear Power Plant
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Nuclear fusion is the fusing or joining of two small nuclei to make one larger nucleus.THE SUN!
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E=is the energy (measured in joules),
m = the mass (measured in kilograms)
c = the speed of light (3.0 x 10  m/s).

The mass of the products produced in a nuclear reaction is less than the mass of the original materials. The missing mass appears as energy!

4.5 billion times more nuclear energy is available! 
Energy is released as the kinetic energy = emitted radiation and daughter nuclei = turns into thermal energy (heat) then into electrical energy (turbines)








A fission bomb, which is also called an atomic bomb, uses uranium or plutonium stored at a mass that is less than the critical mass. Critical mass is the mass of radioactive material required to sustain the reaction.
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The energy produced from individual nuclear fission reactions is very small.
To produce a useful amount of energy, many fission reactions need to occur
simultaneously.
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Figure 5 In a CANDU reactor, the water that produces the steam to drive the turbine and generator
is completely separated from the heavy water that surrounds the nudlear fuel.
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Advantages

requires inexpensive fuel

low levels of carbon dioxide
produced

produces large amounts of
energy in a single plant

fuel is easy to transport
uranium is widely distributed
around the world

does not create acid
precipitation or air pollution

Disadvantages

requires large, expensive
containment and waste storage
facilities

risk of accidents (although it is
low)

produces radioactive waste
that requires long-term storage
potential for waste products to
be used in nuclear weapons
limited supply of uranium on
Earth

perceived by the public as
undesirable or too risky
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